ĐÁP ÁN 
1.	1 ĐIỂM
NỢ TK 211				170 TRĐ
NỢ TK 133				17 TRĐ
		CÓ TK 331		187 TRĐ
NỢ TK 211				9 TRĐ
CÓ TK 112		9 TRĐ
NỢ TK 211				1 TRĐ
CÓ TK 111		1 TRĐ

2.	1 ĐIỂM
NỢ TK 152C				190 TRĐ
NỢ TK 133				19 TRĐ
		CÓ TK 112		209 TRĐ
NỢ TK 152P				128 TRĐ
NỢ TK 133				12.8 TRĐ
		CÓ TK 112		140.8 TRĐ
3.	1 ĐIỂM 
- Đơn giá BQ NVLC
= (5.000*18.000+10.000*19.000)/(5.000+10.000)=18.667 Đ/ KG
NỢ TK 621A			93.335TRĐ
CÓ TK 152C		93.335TRĐ	
NỢ TK 621B			56.001 TRĐ
CÓ TK 152C		56.001 TRĐ
4.	0.5 ĐIỂM
NỢ TK 153				240 TRĐ
NỢ TK 133				24 TRĐ
		CÓ TK 331		264 TRĐ
5.	0.5 ĐIỂM
	NỢ TK 627			40 TRĐ
CÓ TK 153		40TRĐ

6.	0.5 ĐIỂM
NỢ TK 622 A			70 TRĐ
NỢ TK 622B			40 TRĐ
NỢ TK 627 			10 TRĐ
NỢ TK 641 			20 TRĐ
NỢ TK 642 			30 TRĐ	
	CÓ TK 334		170 TRĐ

7.	0.5 ĐIỂM
NỢ TK 622 A			16.45 TRĐ
NỢ TK 622B			9.4 TRĐ
NỢ TK 627 			2.35 TRĐ
NỢ TK 641 			4.7 TRĐ
NỢ TK 642 			7.05 TRĐ	
		CÓ TK 338	39.95 TRĐ

8.	0.5 ĐIỂM
NỢ TK 627 			4 TRĐ
NỢ TK 641 			0.5TRĐ
NỢ TK 642 			0.5 TRĐ
CÓ TK 214		5 TRĐ

9.	1.5 ĐIỂM
Tổng cp sx chung 56.350.000 đ
Phân bổ CPSXC cho:
· SP A = 56.350.000*0.6=33.810.000
· SP B = 56.350.000-33.810.000=22.540.000
Nợ 154A: 213.595.000
	Có 621A: 93.335.000
	Có 622A: 86.450.000
	Có 627A: 33.810.000
Tổng Zsp A: 3.000.000 +213.595.000–3.410.000= 213.185.000
Z/spA: 213.185.000/1500= 142.123 Đ/SP
Nợ 154B: 		127.941.000
	Có 621B: 	56.001.000
	Có 622B:	 49.400.000
	Có 627B: 	22.540.000
Tổng Zsp B: 2.000.000 + 127.941.000 – 1.121.000 = 128.820.000
Z/spB: 128.820.000/800=161.025 Đ/SP
9	NỢ TK 155 A			213.185.000
CÓ TK 154A		213.185.000
NỢ TK 155B			128.820.000
CÓ TK 154B		128.820.000
10.	1.5 ĐIỂM
ĐƠN GIÁ XUẤT KHO
SPA= (9.000.000+213.185.000)/(100+1.500)=138.866 Đ/SP
SPB= (5.800.000+128.820.000)/(50+800)= 158.376 Đ/SP
NỢ TK 632 			334.999.800
CÓ TK 155A		208.299.000
CÓ TK 155B		126.700.800

	NỢ TK 112			539 TRĐ
		CÓ TK 511		490 TRĐ
		CÓ TK 3331		49 TRĐ

11.  1.5 ĐIỂM
Nợ 911: 397.749.800
	Có 632: 334.999.800
	Có 641: 25.200.000
	Có 642: 37.550.000
Nợ 511/ Có 911: 490.000.000
LN = 92.250.200
Thuế TNDN = 0,2 x lợi nhuận:     18.450.040
N911:  92.250.200
C821:  18.450.040      
C421:  78.800.160   
